T2 50 o—o e 5 (20) Addition up to 100 (horizontal)

Name: Date: Score:
04+ 94 = 70+ 81 =
17+95= 60+ 19 =
82 + 52 = 12+15=
70+ 5= 26+ 55 =
6+21 = 69 +77 =
62+ 69 = 95+ 18 =
1+51 = 64+ 67 =
77 +58 = 39+53 =
1+9= 88+ 11 =
29 +41 = 73+ 80 =
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5 50 o—o G 6o

(20) Addition up to 100 (horizontal)

Name:

94 +94 = 188

17+95=112

82 +52=134

70+5=75

6+21=27

62 +69 = 131

1+51=52

77+ 58 = 135

1+9=10

29 +41="170

70 + 81 = 151

60+19="79

12+ 15=27

26 +55 =281

69 + 77 = 146

95+ 18 =113

64+ 67 = 131

39+53=092

88+ 11 =99

73+ 80 =153
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Date:

Score:
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